AP Microeconomics            Mr. Sadow          Chapter 7 Extra Credit #2 of 9
Show your work and put the answer on the line or circle the correct letter.
Name: ______________________________

Include specifics, like %, $, and amounts (80% or $10 million).

Period: ____

***This is due on or before the day of the test review

Price Elasticity of Demand (PED)

[image: image1.png]% from 100% to 98% is
from a P of $1 to $1.10 is

- o +109
10 _| 2|9@ b"’}’””'mmm,,h, a10% increase (+10%)

abADIll
the answer Py dermm,,e elammy
“Ifjthen" Nooo..."
i ore 04 snim
0d 1009 = 8% new-old x 100 100
100 B _ 2 =@ old L10-1.00
—=%= P =
P
w0f= 1%




    

1. Qd= from 100 to 80 and P= from $1 to $.95

PED= ________    elasticity= _elastic / relatively elastic__
2. Qd= from 50 to 40 and P= from $1 to $.80

PED= ________    elasticity= _______________________ 

3. Qd= from 25 to 75 and P= from $3 to $1.50

PED= ________    elasticity= _______________________ 

4. Qd= from 100 to 140 and P= from $1 to $1.80

PED= ________    elasticity= _______________________ 

5. Qd= from 50 to 60 and PED= .5
           % change in P= ________     elasticity= _______________________

6. P= from $2 to $3 and PED= -1
        % change in Qd= _________    elasticity= _______________________
1. The cross-price elasticity of demand between goods J and K

    is −3.

    A 20 percent decrease in the price of good K will result in a
  (A) 3 percent decrease in the quantity demanded of good K
  (B) 15 percent decrease in the quantity demanded of good K
  (C) 60 percent increase in the quantity demanded of good J
  (D) 12 percent increase in the quantity demanded of good J
  (E) 6 percent increase in the quantity demanded of good J
2. If a 10 percent increase in the price of a good leads to a 25

    percent decrease in the quantity demanded of the good,

    demand is
  (A) relatively inelastic
  (B) unit elastic
  (C) relatively elastic
  (D) perfectly elastic
  (E) perfectly inelastic
3. Assume that the price of good X decreases from $10 to $9

    per unit and that the quantity demanded of good X increases

    from 25 to 30 units. In this price range, the demand for good

    X is
  (A) elastic
  (B) inelastic
  (C) relatively inelastic

  (D) perfectly elastic
  (E) perfectly inelastic
4. If a 10 percent increase in the price of good X results in a 20
    percent decrease in the quantity of good Y demanded, which

    of the following is true?

  (A) Good X and good Y are complementary goods, and the

         cross price elasticity is −0.5 .

  (B) Good X and good Y are substitute goods, and the income

          elasticity is +2 .
  (C) Good X and good Y are substitute goods, and the cross

         price  elasticity is −2 .
  (D) Good X and good Y are normal goods, and the income

          elasticity is +2 .
  (E) Good X and good Y are complementary goods, and the

         cross price elasticity is −2 .

